May 12
MCR3U

Trigonometric Ildentity Worksheet

Mr. Park

Part A

Prove the following identities. Each question has different tricks — you must complete all of

them!

| 2) cos@xtané =sinf

cotd 1-sin’0
tand 1-cos’*@

3)

cos’ 8

4) cot’f=—-"——
1—-cos* @

5) £:Sc—9=cot0
secH

6) (sin@+cosd)’ =1+ 2sinécosd

7) 2sin*@—1=sin” @—cos* @
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) sin?@ cos’@ sin®Hcos’ b

9) cos® @ =sin’O+2cos’ -1

10) tané =tan*@x cotd

11) sec’@+csc’ O =sec® O xcsc’ 6
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13) tan® @ —sin® @ = sin* Htan* O

17)

tanf+sinf  tanBOsinf

12) — - —_=2sec’ @
1+sind 1-sin@
2 2 _ 2 2 .
14) cot®* @ +sec’ @ =tan” @ +csc’ 0 15) 1+'2s1nl9c:ost9=Sin9+COSH 16) secl +1 cos9+1=
sin @ + cos@ secd—1 cosf@ -1
tanfsind  tanO—sinf 18) 19) sin@xcosfxtanf =1-cos* @

csch+cotf 1+2cosf +cos’

: csch —cotf sin” @
20) sinf+tand =tan 6 (1+ cosd) 21) tanf+cotd =secHcscd 22) s | ol ooy,
cscf—1 csch+1
23) (1—00529)(1+00t29):1 24) sec*f—tan*@=1+2tan’ 0 25)
cosf sinf _ cosfcotd—tand
- secd cotd cscd
26) sin*@—cos*@=1-2cos* 6 27) '
sec’  —sin® @ = cos’ 6 +tan> 0
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